3 (Sem-3/CBCS) ECO HC 1

2023

ECONOMICS

( Honours Core )
Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
©od EPICAIRY e fia

(a) What is cardinal utility?
HTRGS SocIfara] 9

(b) State one assumption of utility analysis.

SIS o™ b1 e fors |
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(2)

What is production function?

e S F 2

Define income effect.

g Reies Age 7 |

What is marginal rate of substitution?

2ifSsee e 79 Jfercet & 3@ 2

What is the shape of indifference curve in
case of perfect substitutes?

of fiem AR CFES FRCTE @R WP
R T3 ?

Define expansion path.

Wﬁﬂ%ﬂ(@lﬁw_

What is meant by inter-temporal choice?

SR TEeIS AH Y ¢ I8 ?

Define opportunity cost.
ST A9 T {3 |

State the concept of ‘shut-down point’ of
a firm.

oG SfSBEE TeomE-Tm YT AR Seay
1|

( Continued )

(3)

2. Write short answers of the following
questions : 2x5=10

o SRCIRE Y e fidn

(a) What is meant by budget space or set?

et A 11 72 e f @

(b) Distinguish between gross demand and
net demand.

T3 B3 I W% BIfRHE e L (e 541 |

(c) State the two conditions of consumer’s
equilibrium under indifference curve

approach.
e @ Rer s ©eR SREHE 58 0
SCEY 91

(d) Distinguish between explicit cost and
implicit cost.

PN I S SAFPT FI NER A1 A |

(e) State the concept of optimum firm.

T AfSBER 41=eTCo Sege 91 |
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3. Answer the following questions (any four) :
5x4=20
Ooq 2CARE T fran (R o1 wif o) -

(a) With the help of indifference curves,

distinguish between normal goods and
inferior goods.

FRers @ R Fefe WA W fgl
STHAR T <133 ey 07 |

(b) Ezxplain the concepts risk averter, risk
lover and risk neutral individuals.

R EF, K SER WF 5P FHer
&S 4= =7 T4

(¢) Briefly explain the concept of returns
to scale.

SR TR AR ARECH S 701 <1 |

(d) Briefly state the characteristics of
perfectly competitive market.

o elfecnronere <amd REPRE syt o |

(e) Explain how a consumer can reduce risk.

BTSSR (AR XK T #ATed, T <47 |
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4. Answer the following questions :

(5)

Derive average fixed cost curve from total
fixed cost curve.

P BRI @ AR e & I @@ ez
EXIN

T 2Rl Te] fud

(@

(b)
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Define indifference curve. Explain their

10x4=40

properties. 2+8=10

fReers @[ e forar | TR GIMEPTR
01

Or / 723

Critically discuss the law of variable
proportion.
AR Spere  RfRGT eI

SCEATo=T F 4T |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines.

AR TR SIS 2 A-TAT (Y1 W

- R 2 R JeTom IJRT21at !
=S <1 2, SCEH 41 |
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(d)

24A/83

(8B )
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Explain inter-temporal choice of a
consumer with the help of a diagram. 10
TeIER (SR RS v KAw foas

21 IR A1

Explain short-run equilibrium of a firm
under perfect competition. 10
o Afecaforere 93 Afpis FFFETS (PETI
SIEE] &S $¢q, IR0 941 |

Or / 7

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10

Tq-Seome @R T2 TW-BAMT (@R SEe

FIIHIF, A SE TP SN T
oIfSH (rY&T |

Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

ofses Rt gl fan | WG] afSss Rers
5@ @ m 740 |

( Continued )
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Or / A1

Explain the concepts of total fixed cost,
total variable cost and total cost. How are
they related to each other? Explain.

2+2+2+4=10
qﬁﬁaw,@ﬁﬁa@%wwqumm
T 0 | 2R I TR R A
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